Lattice Multiplication (H)

Use lattice multiplication to find each product.

1 8 3 4 7 6 2 8 5
9
5
5
2
8
18347 x 95528 = 62851 x 98602 =
9 6 1 9 5 9 4 2 2
3
4
4
8
4
96195 x 34484 = 94226 x 14992 =
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Lattice Multiplication (H) Answers

Use lattice multiplication to find each product.

1 8 3 4 7 6 2 8 5 1

0 7 2 3 6 9 5 1 7 4 0 9
1 9 2 7 6 3 6 4 8 2 5 9

0 4 1 2 3 5 4 1 6 4 0 8
7 5 0 5 0 5 1 8 6 4 0 8

0 4 1 2 3 5 3 1 4 3 0 6
5 5 0 5 0 5 9 6 2 8 0 6

0 1 0 0 1 2 0 0 0 0 0 0
2 2 6 6 8 4 7 0 0 0 0 0

0 6 2 3 5 8 1 0 1 1 0 )
6 8 4 4 2 6 2 2 4 6 0 2

5 2 2 1 6 3 4 3 0 2

18347 x 95528 = 1.752.652.216 62851 x 98602 = 6, 197,234,302

9 6 1 9 5 9 4 2 2 6

2 1 0 2 1 3 0 0 0 0 0 1
3 7 8 3 7 S 1 9 4 2 2 6

3 2 0 3 2 4 3 1 0 0 2 4
3 6 4 4 6 0 4 6 6 8 8 4

3 2 0 3 2 4 8 3 1 1 5 9
1 6 4 4 6 0 1 1 6 8 8 4

7 4 0 7 4 8 8 3 1 1 5 9
7 2 8 8 2 0 2 1 6 8 8 4

3 2 0 3 2 4 1 0 0 0 1 )
1 6 4 4 6 0 6 8 8 4 4 2

8 8 3 8 0 3 6 1 9 2

06195 x 34484 = 3.317,188,380 94226 x 14992 = 1,412.636,192

Math-Drills.com




